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#include<stdio.h>

#include<stdlib.h>
#include<string.h>
#include<assert.h>

typedef struct Position
{

int row; // AT

int col; // 7%l
}PT;

typedef PT STDataType;
typedef struct Stack

{
STDataType* a;
int top; // RRIF bR
int capacity;

}stack;

// VIR 5
void StackInit(Stack* pst);
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void StackbDestory(Stack* pst);

// Nk

void StackPush(Stack* pst, STDataType X);
[/ Hik

void StackPop(Stack* pst);

// RECGEE N

int StackSize(Stack* pst);

// REILEZ, REIQZIES

int StackEmpty(Stack* pst);

// BRI T e

STDataType StackTop(Stack* pst);

// PR 5
void StackInit(Stack* pst)

{
assert(pst);
pst->a = (SThataType*)malloc(sizeof(STDataType)*4);
pst->top = 0;
pst->capacity = 4;
}
void StackbDestory(Stack* pst)
{
assert(pst);
free(pst->a);
pst->a = NULL;
pst->top = pst->capacity = 0;
}
// Nt
void StackPush(Stack* pst, STDataType Xx)
{
assert(pst);
[/ TR MIEZ
if (pst->top == pst->capacity)
{

pst->capacity *= 2;

STDataType* tmp = (STDataType*)realloc(pst->a, sizeof(STDataType)*pst-
>capacity);

if (tmp == NULL)

{
printf ("R ENN");
exit(-1);

3

else

{
pst->a = tmp;

3

3
pst->a[pst->top] = X;
pst->top++;

}

// itk

void StackPop(Stack* pst)
{



assert(pst);
assert(pst->top > 0);

--pst->top;
}

// IREE A%
int StackSize(Stack* pst)
{

assert(pst);

return pst->top;

}

// REILEZ, REI0ZIETS
int StackEmpty(Stack* pst)

{
assert(pst);
return pst->top == 0 7?7 1 : 0;
//return !pst->_top;

}

// BRI HE
STDataType StackTop(Stack* pst)

{

assert(pst);

assert(pst->top > 0);

return pst->a[pst->top - 1];
}
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// ATEEE
void PrintMaze(int** maze, int m, int n)

{
forCGint i = 0; i < m; ++1)
{
for(int j = 0; j < n; ++3)
{
printf("%d ", maze[i][jl1);
b
printf("\n");
3
3
bool IsPass(int** maze,int m, int n, PT p)
{
if(p.row >=m || p.row < 0 || p.col >=n || p.col < 0)
{

return false;

}

if(maze[p.row][p.col] == 0)
return true;

else
return false;



// BRIAN[0,012AH, [m-1]1[n-1]/2H 1
void GetMazePath(int** maze, int m, int n)

{
// KB iE
}
int mainQ
{
intm=0, n=0;
while(scanf("%d %d", &m, &n) != EOF)
{
// BUEERE, SREGKE A
int** maze = (int**)malloc(sizeof(int*)*m);
for(int i = 0; i < m; ++i)
{
maze[i] = (int*)malloc(sizeof(int)*n);
3
for(int i = 0; i < m; ++1i)
{
for(int j = 0; j < n; ++3)
{
scanf("%d", &mazel[i]l[j1);
3
3
//PrintMaze(maze, m, n);
GetMazePath(maze, m, n);
// R
for(int i = 0; i < m; ++1i)
{
free(mazel[il]);
3
free(maze);
}
return 0;
}
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